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QUESTION 1

Why do designing and managing the test infrastructure sometimes give rise to conflict? 

A. The Project Manager and Test Manager have differing interests. 

B. The testers work with the same test data during the test execution. 

Correct Answer: B 

 

 

QUESTION 2

Which defect has an internal cause that can be solved within the test team? 

A. Adefect in the test basis 

B. Adefect in the test specification 

C. Adefect in the test object 

Correct Answer: B 

 

QUESTION 3

Which defects can be detected more effectively with development tests than with system and/or acceptance tests? 

A. defects related toaffectivity 

B. defects related to the database and/or the operating system 

C. defects related to the functional specifications 

D. defects related to performance 

Correct Answer: B 

 

QUESTION 4

What is the aim of a unit test? 

A. to demonstrate that a unit meets the functional specifications 

B. to demonstrate that a unit meets the technical specifications 

C. to demonstrate that a unit integrates properly with other units 

Correct Answer: B 
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QUESTION 5

During the Process Cycle Test, the coverage type paths is used. In which way can coverage be varied here? 

A. by using boundary values 

B. by using a higher or lower test depth level 

C. by taking equivalence classes into consideration 

Correct Answer: B 
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